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SETS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Plato is my friend - Aristotle is my friend - but my greatest friend is truth.
Isaac Newton, English physicist and mathematician, the most influential scientist of the 17th-century.

Match each of the given sets with its alternative correct specification.
Sets 1:

1 A = {x ∈ R : x < −2 ∨ x > 2}B = {x ∈ R : x < −2 ∧ x > 2}C = {x ∈ R : x ≤ −2 ∧ x ≥ −2}D = {x ∈ R : x ≥ 0 ∧ x ≤ 2}E = {x ∈ R : x < 2 ∨ x > 2}F = {x ∈ R : x ≤ −2 ∨ x ≥ −2}

2 A = {x ∈ R : x < −2 ∨ x > 2}B = {x ∈ R : x < −2 ∧ x > 2}C = {x ∈ R : x ≤ −2 ∧ x ≥ −2}D = {x ∈ R : x ≥ 0 ∧ x ≤ 2}E = {x ∈ R : x < 2 ∨ x > 2}F = {x ∈ R : x ≤ −2 ∨ x ≥ −2}

3 A = {x ∈ R : x < −2 ∨ x > 2}B = {x ∈ R : x < −2 ∧ x > 2}C = {x ∈ R : x ≤ −2 ∧ x ≥ −2}D = {x ∈ R : x ≥ 0 ∧ x ≤ 2}E = {x ∈ R : x < 2 ∨ x > 2}F = {x ∈ R : x ≤ −2 ∨ x ≥ −2}

4 A = {x ∈ R : x < −2 ∨ x > 2}B = {x ∈ R : x < −2 ∧ x > 2}C = {x ∈ R : x ≤ −2 ∧ x ≥ −2}D = {x ∈ R : x ≥ 0 ∧ x ≤ 2}E = {x ∈ R : x < 2 ∨ x > 2}F = {x ∈ R : x ≤ −2 ∨ x ≥ −2}

5 A = {x ∈ R : x < −2 ∨ x > 2}B = {x ∈ R : x < −2 ∧ x > 2}C = {x ∈ R : x ≤ −2 ∧ x ≥ −2}D = {x ∈ R : x ≥ 0 ∧ x ≤ 2}E = {x ∈ R : x < 2 ∨ x > 2}F = {x ∈ R : x ≤ −2 ∨ x ≥ −2}

6 A = {x ∈ R : x < −2 ∨ x > 2}B = {x ∈ R : x < −2 ∧ x > 2}C = {x ∈ R : x ≤ −2 ∧ x ≥ −2}D = {x ∈ R : x ≥ 0 ∧ x ≤ 2}E = {x ∈ R : x < 2 ∨ x > 2}F = {x ∈ R : x ≤ −2 ∨ x ≥ −2}

Sets 2:

A (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

B (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

C (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

D (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

E (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

F (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

G (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)

H (−∞;−2) ∪ (2;∞)∅{−2}[0; 2](−∞; 2) ∪ (2;∞)R(−2; 2)(−∞; 0) ∪ (2;∞)



You outdid yourself today!You can go celebrate!Amazing! Incredible!You are the champion!Great, you are very good at this!You’re almost rocking.A little harder and you would kill it. Try
it again.

That’s like when you end up second in a
competition when you could have won it.

Almost there.
I’m sure you’ll even do better next time.

It almost couldn’t have been better.
Almost.

It’s not bad, but you can do better!Hang in there, there is space for
improvement.

Try again, practice makes perfect!Not great, not terrible.
You are somewhere in the middle.

Making mistakes is better than faking
perfection.

You got it. Don’t throw in the sponge!Pity, you might need to practice more.You made a lot of mistakes.
You aren’t good at this yet.

That was a close shave! Study more,
next time you might not be that lucky to

pass.

You may not be a future Fields Medal
laureate, but you can do better on this

test.

The awkward moment, when you finish a
math problem and your answer isn’t

even one of the choices. . . .

Next time don’t multiply your knowledge
by zero.

This is like a foreign movie to you;
you still need subtitles.

The awkward moment, when the only
thing on your exam you know is your

name.

For this test - the goose is in the oven!
Try another test.




